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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GVs—d

(Long Answer Type Questions) / (€78 IR T2
Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions

only.
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What is cell theory ? Give an illustrated account of the

structure and function of a prokaryotic cell.

PIRBT RIgd |1 2 ? WHRANCH BIRIGT B TR
Tqd BT BT FrTcHD gl By |
Describe the structure and functions of Nucleus.

Brsh DI GRTET qAT BRI BT g BIfoTU |

Differentiate between mitosis and meiosis.
SR T TR Mo @ d SRR W Bifg |

What are Mendel’s laws ? Write a brief note on
Mendelian law of inheritance.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (75 STRIF U%)

Note : Section ‘B’ contains eight (08) short answer type

e

1.

questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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Describe the structure and function of ribosome.
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Describe the various components and functions of
cytoskeleton.

PIRDBT BBl JIIT & (A~ Tl Td 396 Bl
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Give an account of the structure and importance of
Lampbrush Chromosomes.

SR TORA B FREAT TG A B qUA DIy |

Describe the fine structure of gene.

ST @ Ged ARET BT qU BIfr |

Give differences between DNA and RNA.
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Describe the Chiasmata and their role in
recombination.
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Describe the chromosomal mutations.

TR SARTT BT 0 BT |

What do you understand by complete linkage ?
Qof FEerIaT W Y T AHET € ?
Section-C / YUvs—1T

(Objective Type Questions) / (a¥fS Je-)

Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions of
this Section are compulsory.
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Choose the correct answer :
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1.

Who of the following, for the first time, observed
living cell under a microscope ?

(@) Matthias Schleiden

(b) Robert Hook

(c) Antony Van Leeuwenhoek

(d) Theoder Schwann
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Plasma membrane is composed of :
(@) Sugar and Protein

(b) Lipid and Protein

(c) Starch and Lipid

(d) Sugar and Starch
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In animal cell, ribosome was discovered by :
(a) Watson

(b) Palade

(c) Tatum

(d) Meischer
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. Supporting framework of a cell consists of :

(@ Microtubule

(b) Microfilaments
(c) Both of the above
(d) None of the above
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5. Lampbrush chromosomes are characteristic to :
(@) Secondary Oocyte
(b) Nucleus of primary oocyte
(c) Salivary glands of Dipteran larva
(d) Spermatocytes of grasshopper
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6. In cell cycle, the replication of DNA occurs during
which of the following ?
(@ G-1phase
(b) S-phase
() G-2phase
(d) All of the above
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7. The non-coding segment of DNA are coding :
(@ Introns
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(b) Exons

(c) Cistrons

(d) Histone
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Various forms of gene are called :
(@) Phenotype

(b) Genotype

(c) Alleles

(d) Gene Balance

(@) foeircren

(@) forfersy

(®) Tefret

() I wger

What will be the expected phenotypic ratio of offspring
from the cross between YYRR x yyrr ?

@ 1:1:1:1

(b)) 2:1
(c) 1:1
(d 9:3:3:1
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10. For evolutionary success a mutation must occur :

(@ Ingermplasm DNA

(b) In germplasm RNA
(c) Insomatic RNA
(d) All of the above
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